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Q1 # init 6  Result of this Linux command is

1) Restart 2) Shutdown 3) log out 4) None of above.

Answer: 1) Restart

Q2 A question about Linux command "Cat file[123]"

Answer: ### Www.ManipuriSMS.Co.In ###

Q3 The grammar S->aS/bA , A->b/abA can result

1) aaba 2) baba  3) ababb 4) None of above.

Answer: 3) ababb
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Q4 The regular expression S= aa* + aba*b* can generated 

1) aaab 2) aba  3) abab 4) None of above.

Answer: 3)abab

Q5 A company got class B network IP.  And  they one to subnet the IP address to 64 subnet then the Mask is

1) 255.255.0.0 2) 255.255.64.0 3) 255.255.252.0 4) None of above.

Answer: 3) 255.255.252.0
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Q6 A Port Number of a computer in the computer network represent 

1) Program address 2) Process address 3) computer address 4) None of above.

Answer: 2 Process address

Q7 The following program

main()

{

int cont *pp=5;

printf(“%d”, ++(*pp));

}

result.

1 Compiled Error  2) 5  3)  4) none of the above.

Answer:
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Q8 The consider following program code

#include

void main()

{

clrscr();

printf(“%d”, printf(“COMPUTER SCIENCE”));

getch();

}

will prints.

1) COMPUTER SCIENCE16  2) 16COMPUTER SCIENCE  3) Compiled Error  4) none of the above

Answer: 1) COMPUTER SCIENCE16.
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Q9 The consider following program code

#include

void main()

{

char a[6]=”world”;

int i,j;

for(i=0,j=5;i printf(“%s”,a);

}

will prints.

1) world 2) dlrld 3) null string 4) dlrow

Answer: 3) null string
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Q10 The consider following program code

main()

{

int a=10,b=20;

float c,d=0.5;

if(a,b,c,d)

{ printf(“Hello”);

}

}

will result.

1) Hello 2) Compiled Error 3) Run Time Error 4) none of the above

Answer: 1) Hello
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Q11 Some value is given in CMY as 0.4, 0.1, 0.2 the equivalent RGB value is

1) 2) 3) 4)

Answer: 

Q12 A video of length 1 minute with 50 frame/sec  and the 24bit pixel color representation on VGA, what is the size of the video 

1) 1.4 GB  2) 2.6 GB  3) 4 GB 4) none of the above.

Answer: 2) 2.6 GB
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Q13 In a Binary Tree having N node represent in link list. The Null Pointer Present are

1) N 2) N+1 3) N+3  4) none of the above.

Answer: 2) N+1

Q14 In a Ka Tree each inner leaf node have K child. For N inner leaf node have leaf node

1) KN 2) (K+1)N 3) K(N+KN) 4) none of the above.

Answer: 

Q15 What is the Maximum height of a B+ tree having 10 node.  A single node tree have 0 level 

1) 2 2) 3 3) 1 4) none of the above.

Answer: 2) 3
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Q16 The structure of the table can be change by the SQL command.

1) UPDATE TABLE 2) CHANGE 3) ALTER TABLE 4) none of the above.

Answer: 3) ALTER TABLE

Q17 Table A have 120 tuple and the Table B have 8 Tuple, Then the Maximum and Minimum Tuple of (Table A * Table B), where * is Natural Join 

1) 8,8 2) 120, 8 3) 960, 120 4) 120, 120

Answer: ### Www.ManipuriSMS.Co.In ###

Q18 A question about Sofware Engineering Problem Given

400KLOC of embedded system and ask to find initial effort.

1)  2)  3)  4)

Answer:

Q19 8 Queen Problem can be solved by

1) Greedy method 2) divided & conquer Method 3) Backtracking 4) none of the above.

Answer: ### Www.ManipuriSMS.Co.In ###

Q20 What is the time complexity of Bubble sort of N element

1) O(N2) 2) O(N) 3) O(NlogN) 4) none of the above.

Answer:
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Q21 A question about queck sort

1)  2)  3)  4)

Answer: 

Q22 The simplest file structure is

1) Sequential  2) Tree 3) Random  4) none of the above.

Answer: 

Q23 A question to calculated average waiting time of 5 given process

burst time of 5 process

1) 22 2) 25 3) 26 4) none of the above.

Answer: 3) 26 ### Www.ManipuriSMS.Co.In ###

Q24 A question about Hamming Coding

1)  2)  3)  4)

Answer: 

Q25 What is the range of integer if we used 12 bit with negative of 2’ complement representation 

1) -1024 to 1023 2) -2048 to 2047 3) -30656 to 30655 4) none of the above.

Answer:
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Q26 What is the minimum negative number of 8 bit with 2’ complement representation? 

1) -256 2) -127 3) -126 4) none of the above.

Answer: 

Q27 Spanning tree algorithm used by Bridge Route for

1) To determine the shortest path of router 2) To decrease the collision domain 3)  4) none of the above.

Answer:

Q28 A question to calculated 9’ complement  of a given number.

1)  2)  3)  4)

Answer:  ### Www.ManipuriSMS.Co.In ###

Q29 A question something like the race condition of JK flip flop is

1)  2)  3)  4)

Answer: 

Q30 A device with 1 bit storage is

1) register 2) flip flop 3) cell 4) memory

Answer: 2) flip flop.
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Q31 In the following pick out key word not for Java

1) synchronization 2)

Q32 A question something like “Java Bean not use as by JSP”
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Q33 Cokies is storage at 

1) Server 2) Client side browser 3) Client side Catch 4) Client side RAM 

Q34 Physical law and physics Motion are applied at the time of computer graphics 

1) rendering 2) animation 3) Modeling 4) dynamic 
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Q35 Choose the wrong statements with reference to Bridge.

1) Bridge is a Layer 2 Device 2) Bridge divided the collision Domain 3) Bridge is used to connect 2 or 3 LAN 4)
